Name _________________________________________  Sect _______________________





A football team runs four consecutive plays:  A 23-yard gain, a 2-yard loss, a 5-yard gain and a 7-yard loss.  What was the total yardage gained or lost on the drive?

___________________________________________________________________________________





Talia has $200 in her bank account.  She withdraws $60, deposits a $35 check from her grandmother, deducts $15 in monthly fees, and spends another $12.  What is her new bank balance?


_________________________________________________________________________________





The highest point in Desertville, CA is 2,608 feet above sea level.  The lowest point is 213 feet below sea level.  What is the difference between the two points?

_________________________________________________________________________________





Johnny Malone is a RB and averages 3.6 yards per carry.  Bobby Benchwarmer is also a RB, and his average is -1.2 yards per carry.  What is the difference is averages between the two running backs.

_________________________________________________________________________________





The company StockX has a stock that averages a loss of $12.50 a day.  BondX is a rival company that loses 3 times that much.  What integer represents BondX’s daily loss?

_________________________________________________________________________________





Tanya and Tony hike a trail that loses 350 feet in elevation over a total of 7 miles.  Assuming the rate is constant, how much altitude will the trail lose in 1 mile?


__________________________________________________________________________________





A SCUBA diver descends to a depth of -55 feet below sea level.  She takes 11 minutes to complete the dive.  If she dives at a constant rate, what depth would she be at after 1 minute?


_____________________________________________________________________________________





The average daily temperature in January in Chester, PA is 38 degrees.  The average daily temperature in Anarctica in January is – 36 degrees.  What is the difference?
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